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That everyone disagrees with Rebbe — 5397 % n%5 NXRbY R9IDT

Overview

Initially the &7 n3 explained that the dispute between "9 and the 2°151 (whether
nwTIPn MYn2 wipnt or not) is dependent on whether we follow the ruling of 29
that 77°072 NP1 NN (the view of 2"7) or not (the view of the nm:n).l The X3
then reconsiders and says that it is possible that no one agrees with °27, rather their
argument is whether we follow the ruling of X955 27 (who requires that by selling a
TWY one must write TAYY 921 KT 72 °1p (where n"9 disagrees with " and the
0’01 agree). MdOIN draws a halachic conclusion from this X773,

- 295 7997 PRT N¥NNY Y XN

We can prove from here that the ;71297 is not like 329, and n»mx are not 77°0n2 73p3
alone, rather there needs to be 77°0m1 72°n2. NN explains the proof -
= 9399 DTINT NPMNX NIY0NT ¥297 1NY NN NIPYY XIDT 9199197 181 MNTN)

Since the X713 could have said that everyone (2" and the 0°1217) agrees to 529 that

Jjust transferring the letter (of a 70W) is sufficient to effect the transfer without 72°n3 -
= 90N NX N 997Y 1999 ) AYN 232) NN

And here regarding the woman we are also discussing a case where he just

transferred the "W to the woman without writing another 0w -
= DYTIPN NN NIRRT ©INT NIYL 1IN

And this is the reason why the 232517 maintain that she is not N7 even though

the 0°nom agree with °27 that 77°01n2 NP1 NPNX -
= PTAYVY 521NN Y 2P T0YN 1Y 191V DO 9127 T84T 991077 DIVN

Because the 2°nor maintain that the transferrer when he transfers the 2w to the

recipient must say, ‘acquire for yourself this 70w and all its liens’ -
= NO9 2972 999 75 1Y 9N KXY NN

But the w7pn did not say this to the woman; he merely transferred the r'"vw, and
1" and the o217 are arguing whether we follow the ruling of '3 or not -

mMdoIN responds to an anticipated difficulty:*
= YTIAYIY I3 1NN 1Y 03P NOY ANDMIY S¥aT NID 29 INT 239D 99

! 77702 m°3p1 NI means that one can transfer the ownership of a 7vw by merely giving over (transferring) the Tuw
to the new owner. However the o151 (of *27) disagree and maintain that in order to transfer a "v¥ we need 172°n3
(another "vWw to be written where this transfer is recorded) and 77°0» (the initial 70w be transferred to the new
owner).

% 5" states that when selling a qvUW one must write MTAYY 721 X7 T2 *3P; however here where nothing is written,
perhaps there is no ruling of 8"9. N1BON rejects this reasoning.
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For just as 2''1 rules that there is a requirement to write to the recipient (in the

[accompanying T0W]) 7972 921 ¥R T 91P according to the 7"» that NPRIX are not
77°01m2 7321, but we require 77°0m1 712703 -
- >33 NN NPIN VINT INNPY 193 537 Y T59¥ 1 M

So too will 5" require to say the same thing orally according to the one who

maintains 779°59%3 NP NN -
- %5999 795199 XN9YH 9T NN YNV 2297 90D P RNDY RDIT NI 9INPT

And since the X773 chose to say that everyone disagrees with 39 (regarding

77°0m2 NP1 NNIR), we can derive from this that the 719957 is not like 29, rather

there is a requirement to have both 777021 72°n2.
= 19PN D990 YW (x,ty 97 xIna 833) NIPODN NN 991NN P9

And in 799977 nR 927 9B, there are different readings of the text -
= 195013 MNP NN PNRT NAVNT Y097 5PN N9°0N2 NMIPI NPIMMNT NIDNYT Y0NT PN

Some text read that the 72%7 is m°0o»2 nup: n1nIR, while others read that the

o957 is that 799072 NP NNIR PN -
$1195093 HNPI NP PRT RO X¥NND XD ¥HUN)

However from here it seems like that X29° that 5795922 NP1 NP PN.

Summary
The 715977 is that 77°0%2 NP1 DPNIR PR; we require 77°0@1 72°N2.

Thinking it over
mMoon assumes that the ruling of "1 is also according to *27. However perhaps we

can argue that just as "27 is lenient that 772°n3 is not necessary (77°07 is sufficient),
similarly 17 maintains that (saying) 71avw 931 17K 79 17 is also unnecessary?’

* moon assumes that the ruling of X599 27 (that one must write 7T12yw 921 X177 72 °3p) is independent whether we
maintain that transferring a 20w requires 77°0m1 72°n5 (the ruling of 5" would require writing 191 ¥R 7% *17 in the
quw) or whether we maintain that 77°022 mMIp1 nNnR (where the ruling of "1 would requires saying "3 ¥R T2 *1p
orally). 8"7 mentions 2103w 77X either because he maintains 777°0m1 772°n2 X, or it was merely a figure of speech.
See (however) 71K 7"7 2,5 2"2 '01n. See ‘Thinking it over’.

* The xm3 (when it attempted to establish that the np>nn between o2m 11 depends on whether we agree with 2"
or not) had two options; it could have said (as it did) that all disagree with 27 (and n1"nNX are not 777°0%2 N1PI), and
the question is whether we follow "9 (and insert the words 121 ¥1°X 7% °Ip in the vWw) or not. The X7n3 could have
just as easily said that all agree with "2 (that 77°0n2 mip1 N1PMX) but the w7pn did not say to the woman (when he
gave her the n"vw) that 121 37X 77 "1p, where n'"1 disagrees with " and it is a proper transfer, while the 0on agree
with 5" that even by an oral transfer (since we are now assuming 77°0%2 NP1 N1°NIR) there is also the requirement to
say orally ¥R 7% *1p (see footnote # 3), and since he did not say it she is not nwTpn. The fact that the X713 chose the
first option proves that the X137 &2no disagrees with »21 and would rather say that *277 7% n°% v"2 instead of saying
277 2 R Y.

> See 7N *wAon XK # 103.
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